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Abuey | FAVE | Rbey | B AVE | Rbee | B AVE | Rbeer | AVR
1| SRR (#BHLIX) 87 20 82 17 83 20 79 20 60
2 | B T (FHX) 92 15 79 20 84 18 03
3 | FA——= (FHEX) 87 20 89 7 87 14 85 17 ol
4 | ORE (B 7-1X) E Ve 80 19 84 19 89 11 49
5 | AL &1 (1) 92 15 86 14 88 12 85 17 46
6 | IITFEET (1) 88 18 86 14 90 10 94 0 42
7| iR TS (#BHLIX) 105 0 102 0 84 19 82 19 38
8 | HEILET (LX) 92 15 90 10 88 12 37
9 | E BT (FF1[X) 96 5 85 16 86 15 36
10 | =Y I+ (FFHEX) 88 18 86 14 95 0 95 0 32
11 | FEThEr (7 1X) 93 12 98 0 85 17 93 1 30
12 | mAR =& (5 %) 80 19 90 10 29
13 | HH ARk | RLyrBX) | 93 12 103 0 87 13 25
14 | PR BHZE (JEX) 94 9 86 14 97 0 23
15 | #ATXRT (kIX) 94 9 97 0 88 12 94 0 21
16 | # (R X) 97 3 94 0 98 0 85 17 20
17 | WHEHH & (A=RIX) 98 0 86 14 92 4 95 0 18
18 | KEpY # (A X) 99 0 86 14 92 4 96 0 18
19 | BRASEHT (AR ) 91 16 96 0 93 2 103 0 18
20 | BAREETF (iR X) 101 0 94 0 96 0 85 17 17
21 | BsB #HF (&1 1X) 98 0 91 6 89 11 17
22 | NR T (B& - 1X) 85 16 97 0 93 1 17
23 | HH HE | RLrBX) FHTR G 85 17 E Ve 17
24 | Bot B (s %) 98 0 90 6 90 10 | 103 0 16
25 | KRB W+ | ®RIK) 96 5 96 0 93 2 90 9 16
26 | WA EaE (B %) 104 0 94 0 87 14 TR % 14
27T | RIATHTF (ax) 95 93 1 95 0 92 6 14
28 | =W HHiE (Vs 1) 98 92 3 102 0 90 9 12
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29 | FEWH BET (1 1X) 93 12 95 0 96 0 12
30 | i Fr (#BHX) 97 3 93 1 95 0 92 6 10
31 | /bR W (B - 1X) 108 0 96 0 97 0 90 9 9
32 | BL #r (FHEX) 105 0 92 3 99 0 92 6 9
33 | ZHEET (LX) 97 3 90 6 106 0 9
34 | Ate BT (FEIX) 88 8 100 0 8
36 | M H%E (A ) 95 7 97 0 96 0 7
36 | &~ bR (LX) 102 0 98 0 103 0 92 6 6
3 | &I BT (B LX) 104 0 102 0 104 0 92 6 6
38 | EUHVL3ES (FHX) 100 0 90 6 99 0 94 0 6
39 | K& E¥ FBHX) 101 0 91 6 96 0 6
40 | AR HF (P X) 97 3 96 0 98 0 96 0 3
41 | &G B () 97 3 95 0 100 0 3
2 | BH Kt | BRtrgaK) | FEIXY 95 0 93 2 95 0 2
43 | MR A WF (FBHIX) 100 0 95 0 93 2 97 0 2
44 T S RN T (FEX) IR S 93 1 96 0 101 0 1
45 | @i TET | Rt B 93 1 97 0 1
46 | HHIEHE CIy 95 0 106 0 95 0 0
4T | FUR SEF (G X) 99 0 96 0 100 0 98 0 0
48 | WBKT fET (%) 99 0 101 0 98 0 99 0 0
49 | R T | (ERIIX) 102 0 100 0 96 0 102 0 0
50 | dbAT s (k) 102 0 102 0 0
51 | D HEF (X)) 101 0 101 0 HBviEL FHIR 0
52 | Ak EHu #BHX) 98 0 97 0 94 0 0
53 | W I&F (s %) 101 0 97 0 94 0 0
54 | IAAKTHT (AR 1K) 99 0 96 0 95 0 0
55 | YAy HE (1) 109 0 111 0 104 0 0
56 | fix RKRF (7 %) 99 0 0
57 | BA FHF (F5X) 103 0 105 0 0
58 | MEHE T | IREsAK) FHIK 0
59 | KHE EF (V5 [X) 98 0 0
60 | [EFS EF (X)) IR 0
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